CormnacoBaHo:

NHXeHep-KOHCTPYKTOp

ITerpos B.I'.

NuxeHep TexHONOr

Pomanuyk A.C.

IlepeyeHb OCHOBHBIX JIeTaJIeil M Y3J10B

MAIINHBI DJeKTPHYECKOH

nuindopaabHoii yriaosoin MITY-0.8-02

YT1Bepxaaro

TexHu4ecKuil TUPEKTOP

Awnncenkos O.A.

" 800Br 220B~50 Ty
no 11000 06/MvH
@125 mm  S2-30 MuH

A SO

Brixmouatens (250B, 6A)

[EN

8 | llerkonepskarens B cOope 2

8.1 | llerkoaepxarenb
8.2 | Ilpyxuna 2
9 Ierka (8,85x13x5,9) 2
10 | Bunr (camopes) (4x15) 2
11 | Homypyuka yieBas 1
HaunmeHnoBanue Kou. 12 | TlnacTuHA IPHKUMHAS 1
Bunt (camopes) (4x18) 1 13 | Bunr (camopes) (4x15) 2
Bunt (camopes) (4x35) 2 14 | Tsra 1
Tlonypydka npasast 1 15 | Kopmyc s aBurarens 1
Iuyp cereBoii (2x0,75 L=2) 1 16 | KnaBumia BKItOueHHs 1
TpyOka 3ammrHast 1 17 | Crarop Z=50 ©¥59 1
Konnencarop (0,22pF; 275B) 1 18 | lmadparma 1

“« o 2015r.
19 | Kommnencatop 1
20 | Hommwmnuuk 608 Z 1
(8x22x7)
21 | Slkopw Z=49,65 ©¥35,21L=160 | 1
22 | UInonka cerMeHTHas 1
(3,6x9x2,9)
23 | Inacruna 1
24 | Ulaiiba npyxunHas 4 2
25 | Buat M4x10 (moTaii) 2
26 | Hommmmank 6000 RS 1
(10x26x8)
27 | Kopmyc penykropa 2
28 | Bunr (camopes) (4x25) 4
29 | Knaonka ¢uxcaropa 1
30 | Ipyxuna 1
(11x6,5x0,8)
31 | Hlaii6a cromopHas 5 1
32 | Hlecrepus Z=12 1
33 | laiika M8 1
34 | Mogmumuank HK0810 1
(8x12x10)
35 | Kosbiio cronopuoe 9 1
36 | Koseco 3y6uatoe Z=37 1
37 | Bunr (camopes) M4x10 3
38 | laiiba npyxunHas 4 3
39 | IlnactuHa 1
40 | Mogmmumauk 6201 RS 1
(12x32x10)
41 | Kpsimka kopmyca perykropa 1
42 | Hlaiiba npyxunHas 4 4
43 | Buntr M4x14 4
44 | IlnoHka cerMeHTHas 1
(3,6x9x2,9)
45 | nouanens 1
46 | Koxyx 3amuTHBIH 1
47 | Buatr M6x25 1
48 | T'aiika M6 crienpanbHas 1
49 | dnanen 1
50 | ®nanen npwKUMHON 1




